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- Assighment ——

Complete pg. 355
Questions (1-5, and 11)
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Solutions ————————

SN~~~ W\‘qb s iibcctl *E ‘OY' "ﬁ:i'\-O #5
w‘u ILTTPLLE £ La Qﬁm‘. choose +he

I best answer.

l. What are +he non-permissible values

for the rational expression _ A(x+2) 7
x=3)x+1) ~
=> %A-3#0 _and x+1#0
| XEIS o x#+=-1

_SoluTToN S D

2. Sxm_F lify the rational expressmn
xto for g\l possible values of x-

CX*-2x-24

:_—_.) Xi‘])(ig
X = 2x-24
= (X-\){(¥x=6)
e (x )
= (X=1) L, X#F6,~Y
(x+%)

SOLUTTON: B
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Solutions ————————————

3. Simplify 38“4”%”% for all
permissible values OFY

=3 8 +5y-5
Iy 4.9
= 4 +30y—_[BYy
24y D4y 24y
=L 0N 1D v o
24y’

SolUTTON: A

4. Simplify 3x=12+ x=4 , X#0 and x#4.

Qx> 3X

= 3x-12, = x-4

g x2 3X
= 3G X 3x

Ax* Xt

Qx
= 1 ,%#0

o

SOKUTTON S A
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Solutions ———————————

5 Solve -~ , t#+3 and t#-4.
3 t+‘—+
=% (Q _E_ét__ |
..\_
ce—aacw [ ]— (- B)Ctﬂelﬁ[ ﬂ: ]
£33
lt+d) = 4((t-3)
t+24 =4t-12,
t-4+t = -12~-2M
2t = -06
pe 2
=-18 , T#+3,-M.
SoluTToNs: D
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Solutions ———————————

1. Solve 2—-_5 = %xX+3
X2—X—G x+z
S = X¥3

Cx—?:)(x-\-z) X+ 2

=X+ 22 ] = GBI 2 [ S |= (B2 X+ zsg]
LRI 2) _i LXA2
2UX-ZV(K+2) = 5 = (X=3NX+3)
2 (X2 2%-3%-G) =5 = X2 +-SX-OX 9
DXL Y —-X-12-5 = X*-9

ALXLX*-2x-171+9q =0
X"~’2_><'“8 = O
(X=4)(x+2) =0

X=-4=0 or X+2=0
X=4) ><=—2, yXF3,"2

U*rancous
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